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Match #13


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
The high end of this layer averages a temperature of approximately -3 degrees Celsius, based on the ultraviolet radiation absorbed by the ozone layer.  Located between 6 and 31 miles above the earth, directly above the tropopause, is what layer of the atmosphere?

ANSWER: stratosphere
2.
Its neighbors include Nidavellir (nee-dah-veh-leer), Svartalfheim (swart-alf-hime), and Jotunheim (yoh-toon-hime). Odin and his brothers created it from the flesh and blood of the frost-giant Ymir (ee-mer). It is connected to Asgard with the Bifrost bridge, and is surrounded by the serpent Jormungand (yor-moon-gard). What realm is the home to men in Norse myth?

ANSWER: Midgard or Mannheim
3.
In this novel, the protagonist’s family has been forced to rent out Kellynch Hall and move to the resort town of Bath. They are joined by Mrs. Clay, Louisa and Henrietta Musgrove, and William, the heir presumptive. The protagonist rejects a marriage to William, and she marries her first love, Captain Frederick Wentworth. Anne Elliot is featured in what last novel by Jane Austen? 

ANSWER: Persuasion
4.
Its name was coined by Trent Lott in 2005, although it had been used by Robert Byrd four times between 1977 and 1987. A crisis involving its use in 2006 was defused by the ‘Gang of 14.’ It refers to the maneuver by which a legislative ruling is made that effectively permits Senate rule changes by majority vote. What tactic would have been used in 2006 to ensure President Bush’s judicial nominees were not filibustered? 

ANSWER: nuclear option (accept constitutional option)
5.
THIS IS A COMPUTATION QUESTION. What is the median of 13, 82, 41, 102, 33, 28, 59, and 8; given that these numbers from least to greatest are 8, 13, 28, 33, 41, 59, 82, and 102?

ANSWER: 37
6.
He left a judgeship in Arras (ah-rah) because he did not want to give out death sentences. But by December 1792, he was proclaiming, ‘Louis must die, so that the country must live.’ He was elected to the Committee of Public Safety in the summer of 1793, but was executed in the wake of the Thermidorian Reaction. Who oversaw the guillotining (ghee-loh-tee-ning) of thousands during the Reign of Terror? 

ANSWER: Maximilien Robespierre
7.
Cyclic ones are called lactones and are often formed from a condensation reaction between an alcohol and an acid.  They are used in perfume, confectionaries, and soft drinks, and they give fruits their characteristic smell.  Name this class of organic compounds that has general formula R-C-O-O-R prime.

ANSWER: ester
8.
In 1762, Robert Lowth was the first to describe this as a grammatical error in English, stating that using it would cancel the intended meaning. However, Chaucer used it in his poetry, using it to describe the Friar and the Knight, as did anyone who ever wrote in Romance languages, where its use is required. “I don’t got no money” is an example of what grammatical error?

ANSWER: double negative or double negation

This man's wife is a former art museum curator, and was once confused by Bruce Willis for a pregnant Julia Roberts.  He has been arrested in New Jersey, Las Vegas and Amsterdam, all while wearing a tuxedo.  The instigator of a plot to rob the vault of the Bellagio casino, he was played by George Clooney. Who ‘only lied about being a thief,’ and had the assistance of eleven and twelve other people in two movies? 

ANSWER: Daniel Ocean
10.
John Randolph said the only manufacturing it was concerned about was the next President. Passed eight years after the Dallas, and four years after the Sectional, its passage prompted the writing of the South Carolina Exposition and Protest. This led, four years later, to the Nullification Crisis. A 62% duty on imported goods was enacted in what protective measure passed in 1828?

ANSWER: Tariff of Abominations (accept Tariff of 1828 before 1828 is said)

11.
In 1999, he said he was too young to be a beatnik and too old to be a hippie. The film adaptation of his novel Sometimes a Great Notion was the first movie shown on HBO. He faked his own suicide in 1966 with the assistance of his ‘Merry Pranksters.’ The play Twister was the last work of what man who created Randle Patrick McMurphy and Nurse Ratched in his classic One Flew Over the Cuckoo’s Nest? 

ANSWER: Ken Kesey
12.
Despite being a pagan art form, Theodosius I had one installed in Istanbul’s Hippodrome Square. The first one still standing was established by Senusret I of the 12th Dynasty, and an unfinished one was discovered in 2005 at Aswan. They are different from steles (stee-leez) in their gradual tapering into a pyramidal top. What word, from the Greek for ‘needle,’ describes a monument such as the Washington? 

ANSWER: obelisk(s)

13.
It was developed by an American physicist in 1929.  One at the Oak Ridge National Laboratory has achieved 25.5 megavolts.  Name this electrostatic device with two electrodes, two pulleys, a silk belt, and a metal sphere on top that is often used in hair-raising science demonstrations.

ANSWER: Van de Graaff generator

14.
Her father called her mother, Annabella Milbanke, the “princess of parallelograms,” and she was tutored by the logician Augustus De Morgan. What only legitimate daughter of Lord Byron wrote a method to calculate Bernoulli numbers using Babbage’s Analytical Engine, making her the first computer programmer? 

ANSWER: Augusta “Ada” Lovelace (accept Ada Byron or Ada King or Countess Lovelace)

15.
It was a collection of a dozen huts located about 6 miles east of Kaesong (kay-song). It, along with nearby villages, was emptied, and their former residents and descendants now live in Great Success Village and Peace Village. The huts are now gone, but the Peace Museum remains. The Joint Security Area is a half-mile east of the site of what Korean village where a ceasefire was signed to end the Korean War? 

ANSWER: Panmunjeom (pan-moon-johm)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
“Winning isn’t everything, it’s the only thing” is a maxim from what coach that won the first Super Bowl with his Green Bay Packers?

ANSWER: Vince Lombardi
1B.
The Maid of Arran, one of the first musicals, and the nonsense poetry book Father Goose were by what man who supposedly advocated silver coinage in The Wizard of Oz?
ANSWER: L(yman) Frank Baum
2A.
What base replaces thymine in RNA?

ANSWER: uracil
2B.
THIS IS A COMPUTATION QUESTION. Two hundred ten is what percent of 600?

ANSWER: 35 percent

3A.
Opposed to ‘craft unionism’ were the founders of what group that existed as a separate entity between 1935 and 1955, when it rejoined the AFL? 

ANSWER: Congress of Industrial Organizations or CIO (accept ‘Committee’ instead of ‘Congress’)
3B.
Anemia is a deficiency of what element?

ANSWER: iron
4A.
THIS IS A COMPUTATION QUESTION. Convert 79 into a base 8 number.

ANSWER: 117 (one-one-seven, but accept ‘one seventeen’ or ‘one hundred seventeen’)

4B.
Timberline, the only American ski resort that offers year-round skiing, is located along the slopes of what Oregon mountain?

ANSWER: Mount Hood
5A.
What name is shared by an obsolete unit of measure equal to ¾ of an inch, the fingers and toes, and the individual numbers between 0 and 9?

ANSWER: digit(s)

5B.
What U.S. Attorney General announced his resignation in August 2007?

ANSWER: Alberto Gonzalez
6A.
How many sides does a dodecagon have?

ANSWER: 12
6B.
A 500-member council known as the Boule (boo-lay) and 10 generals known as strategoi (strah-tay-goy) governed what ancient city?

ANSWER: Athens
7A.
The target of John Pershing’s Punitive Expedition was what Mexican Revolution general that virtually ruled the state of Chihuahua?

ANSWER: Pancho Villa or Doroteo Arango Arámbula
7B.
What father of Alexander and Rufus was forced by the Romans, in the Synoptic Gospels, to carry the crossbar that Christ was crucified on? 

ANSWER: Simon of Cyrene 

8A.
What urban planner was hired in 1791 to oversee the development of the 100 square miles that was to become the District of Columbia?

ANSWER: Pierre L’Enfant
8B.
The English Poet Laureate between 1843 and 1850 was what man who wrote ‘Tintern Abbey’ and worked with Samuel Taylor Coleridge on Lyrical Ballads? 

ANSWER: William Wordsworth
9A.
What is the keyword used in PHP to output text such as ‘Hello World’ to the screen?

ANSWER: Echo

9B.
F = -k times x (f equals negative k times x) is what law relating to springs?

ANSWER: Hooke’s law

10A.
For all Latin verbs, what is the final letter of the third person singular in the present indicative? 

ANSWER: t
10B.
What is the conjugate of 39 minus 17i?

ANSWER: 39 plus 17i
Third period, 15 toss-ups, 10 points each

1.
A “Natural” one is done in order – Gary Matthews, Jr., accomplished this with the Texas Rangers in 2006 by homering off of Mike Maroth in the 6th inning.  Three players have accomplished it in 2007, the last being Aubrey Huff, who finished it with a bloop single in the 7th inning.  What is this baseball feat, where a player collects a single, double, triple, and home run in the same game?


ANSWER: hitting for the cycle
2.
Its two sects, Digambar and Svetambar, disagree over whether monks need to wear clothes and whether women can achieve enlightenment. Both agree on the Nine Tattvas. It has 24 prophets called Tirthankaras (teer-than-kah-rahs), with the last being Mahavira (mah-hah-vee-rah). What religion, possibly descended from the Indus civilization, is notable for its practice of ahimsa (ah-heem-sah), or non-violence?

ANSWER: Jain(ism) or Jain(ist)

3.
By the end of the play, Lord Augustus Lorton will marry the title character’s mother. At the beginning, the Duchess of Berwick tells the title character that her husband has been making secret payments to a Mrs. Erlynne. Suspecting adultery, she decides to leave her husband for Lord Darlington, but returns to her husband after finding Mrs. Erlynne is her mother. What is this satire on marriage by Oscar Wilde?

ANSWER: Lady Windermere’s Fan
4.
It is a silvery white metal that is found in uranium ores such as pitchblende.  Its most common isotope has a half-life of 1600 years and atomic mass number 226.  Name this heaviest alkaline earth metal discovered by Pierre and Marie Curie that has atomic number 88 and symbol Ra.

ANSWER: radium (NOT radon)

5.
They were organized into ortas, or regiments, and went to schools called acemi oglan (ah-jay-mee oh-lahn) until age 20, forming Europe’s first standing army since Roman times. Their power was broken by the new sipahi (see-pah-hee) cavalry during the Auspicious Incident of 1826. In 1449, they rebelled for higher pay; after that, they got a raise from every new Sultan. Who were these elite soldiers of the Ottomans? 

ANSWER: Janissaries
6.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  4x minus 3y equals 19 and 2x plus 3y equals 23, which when solving for x simplifies into the expression 6x equals 42.

ANSWER: x equals 7 and y equals 3
7.
His meetings with British Ambassador Anthony Merry proved fruitless, but he had the support of Harman Blennerhassett. He was betrayed by James Wilkerson while allegedly planning to establish a republic from the western territories of the United States. As two witnesses could not testify against him, he was acquitted of treason in 1807. What man, while serving as Vice-President in 1804, killed Alexander Hamilton? 

ANSWER: Aaron Burr, Jr.

8.
Alternate meanings of this word come from Old English words meaning ‘to talk’ and ‘to relieve from duty.’ It can refer to a span of time, during which an activity is performed, such as sitting, coughing, working, or hot weather. It can refer to a word or words that have magical power. What word also means to recite the letters of a word one by one?

ANSWER: spell 

9.
Its nickname also applies to Franz Liszt’s 7th Transcendental Etude. The composer’s desire to repeat the exposition in the first movement was largely ignored until the 1950s. Its length of 50 minutes was twice as long as symphonies by Haydn or Mozart. What Beethoven symphony was originally dedicated to Napoleon?

ANSWER: Beethoven’s Third Symphony or Eroica (ay-roy-kuh)

10.
He was the command pilot on Gemini 8 and a backup on two other Gemini flights.  The backup commander for Apollo 8 as well, he was known for dropping syllables from speech, though digital analysis has located the potentially missing indefinite object from HIS most famous line.  What ‘giant leaper’ was the commander of Apollo 11 and first man on the moon?

ANSWER: Neil Armstrong
11.
The protagonist’s roommate and sister, Razumikhin (rah-zoo-mee-kin) and Dunya, get married at the end of this novel. Petrovich wangles a confession from this novel’s protagonist, who then was sentenced to eight years of hard labor in Siberia, although he gains the love of Sonya. The miserly pawnbroker Alyona meets her death at the hands of Raskolnikov (rah-skawl-nih-koff) in what novel by Feodor Dostoyevsky? 

ANSWER: Crime and Punishment
12.
In the late 1970s, the Hunt brothers attempted to corner the world market on this commodity. Warren Buffett made some headlines in 1997 when he bought 130 million ounces. Its ‘junk’ variety is dimes, quarters, and half-dollars from before 1964. Thirteen dollars an ounce was the price in September 2007 of what precious metal? 

ANSWER: silver
13.
In recent years, she has written Silent to the Bone and The Outcasts of 19 Schuyler Place. She is, however, better-known for creating characters such as Metropolitan Museum of Art visitor Claudia and Academic Bowl coach Eva Marie Olinski. Who won two Newbery Awards for From the Mixed-Up Files of Mrs. Basil E. Frankwater and The View From Saturday? 
ANSWER: E(laine) L(obl) Konigsburg
14.
There are around 250 species of them and types include Welsh, Himalayan, desert bearclaw, pygmy, Iceland, and California.  One usually has four to six petals and its red corn version is found in Flanders Fields and is an emblem of World War One.  Name this flower type from which opium is derived.

ANSWER: poppy
15.
This man lost significant favor in the polls following an August 2006 campaign stop in Breaks, Virginia. At that stop, he saw a Fairfax County native in a yellow shirt who was videotaping the stop, and directed an epithet at that person.  What man, son of a former NFL coach, and himself a former Governor of Virginia, was defeated in the 2006 Senatorial election by James Webb?

ANSWER: George Allen, Jr.

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Supposedly, its students were “too busy to hate,” and it was the first Southern public university to voluntarily integrate. It has sought to improve its non-engineering programs in the Ivan Allen College of Liberal Arts. Technology Square is one of its four campuses. The “Ramblin’ Wreck” is the mascot of what school in Atlanta, whose sports teams play in the Atlantic Coast Conference as the Yellow Jackets? 

ANSWER: Georgia Tech (or Georgia Institute of Technology)

2.
From the Latin for millstone, types of them include hypsodont, which are found in animals such as horses, and the quadrate, which are found in humans.  Cats have only two of them while ruminants and humans have twelve of them.  The ‘mandibular third,’ or ‘wisdom,’ is for humans, the rearmost of what most complex type of tooth? 

ANSWER: molar
3.
Much of this work is based on Edward Grim’s observation of its titular event. The protagonist is given four temptations: physical safety, riches and fame, a secular coalition with the barons, and ultimate power. All are rejected, and the protagonist accepts his inevitable death, which occurs at the hands of four knights. What play by T.S. Eliot is about the assassination of St. Thomas Becket? 

ANSWER: Murder in the Cathedral
4.
In 1995, this band performed three concerts, in three continents, in one day. This seems to have sapped their success, as recent albums such as X and Slang sold poorly. This was a letdown for one of the six bands to sell two albums with over 10 million copies in the US. Pyromania and Hysteria are albums from what band known for the songs “Photograph,” “Rocket,” “Love Bites,” and “Pour Some Sugar on Me”? 

ANSWER: Def Leppard
5.
Measured in the same units as the data it is based on, it is usually denoted with a lowercase sigma and is defined as the square root of the variance.  Name this synonym of root-mean-square that is the statistical measure of the spread of values around a mean.

ANSWER: standard deviation (or deviance)
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